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1. (a) Andy, Lauren and Noah are playing with a normal fair
' dice. They each predict the next seven throws.

Andy 1 2 1 2 ] 2 ]
Lauren 3 5) 2 2 4 6 ]
Noah 4 4 4 4 4 4 4

Which, if any. of these predictions is the most
likely?Circle your choice and explain your answer.

Andy Lauren Noah All are equally likely

—ﬁ\e, probql){u'tv) of Precuckinﬂ the next F thaowsg tn a %Slucw\ orcl ex
o~ o Fair dice s the <ame ru(ja\mi\us of- the Sequence ol
Nueabecs | aad s given l).a (__'6_)"7‘ (2)
(b) Nikki makes a six-sided dice.
To test the dice she throws it 100 times.

After each 10 throws she records the number of sixes thrown.
The relative frequencies for the first 90 throws are shown on the graph.
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. (b) (i) How many sixes were there in the first 10 throws?
o8 X o = F
(ii) After 100 throws there were 42 sixes.

Calculate and plot the relative frequency of a six after 100 throws.

RQJO\HVCL Ffrz_clue/nc_ij = YA = -89
|00

(1)
(iii) How many sixes would you expect to get after 100 throws of a fair dice?
= _'J(T 100 = |7+ (Lo nearest intaf)w) (;L

(iv) Is Nikki’s dice fair?
Tick the correct box.

Yes No

Give a reason for your answer.

Cof\c(U\S'\oﬁs A rawn From a Fic\ﬁe, am oank

o W\P{ri_(__a,q dakon can never be vediced b

10O % cextainty. (1)

l,_\owcij %S'NW a(‘@(o\Hv(Llj (Total 6 marks)

Large. ‘S%mPOQ O(: 120D theows  and O\FQ,lO\‘c'we,lj |
l(%(‘ge_, deviakion O\W(M-:) (:(Om the e/xpa(_qua( F(w\f'@m"j

off Sixas, e can Le Sta\tﬁs’c’\co\llj conpuolefr\t the

NiRRI's dice 18 not Pﬂir.

Y \dhen one admits kheak r\glc‘hlr-,e) LS ceckain one mus’c,’LJckmb\, les_o ‘?‘\dm"\t |
| bhek Some Jc"r\'-nbs cce much mare. Neacliny cectain Ehan others . Lk 15 muds
e neacly, Cectain bhak we are asSenbled here tonioht Han it 13

it'aho\t s o thak PoUti cenl ‘PW"Q‘{) (S in Che ch C@rta(nd\j thece ace

decyrees of cectainky,; codk ene Srould be o coveful ko ernphogse |

L thak Fock, becakse otheriise one (2 lond R T E:icE

| SCepticism, and CQmPlee_ HLeXiciIsSm \Lyould, of esucrse ;| e ’cpkc?\“v_) %
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2. The scatter graph shows some information about 10 cars.
It shows the time, in seconds, it takes each car to go from 0 mph to 60 mph.
For each car, it also shows the maximum speed, in mph.
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Time (seconds) to go from 0 mph to 60 mph

(a) What type of correlation does this scatter graph show?
Neoabive corrtlabion

ey
The time a car takes to go from 0 mph to 60 mph is 11 seconds.
(b) Estimate the maximum speed for this car.
lg" ........... mph
(2

(Total 3 marks)
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3. The scatter graph shows information about eight dogs.
It shows the height and the length of each dog.

'

Length (cm)
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Height (cm)
The table gives the height and the length of two more dog.
Height (cm) 65 80
Length (cm) 100 110
(a) On the scatter graph, plot the information from the table.
@
(b) Describe the relationship between the height and the length of these dog.
Positive coccdlabion
1
The height of a dog is 76 cm.
(c) Estimate the length of this dog.
[
................ ogcm
@)
(Total 4 marks)
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—
4. Some students revised for a mathematics exam.
They used a private tutor.
The scatter graph shows the times seven students spent wiyh the tutor and the marks
the students got in the mathematics exam.
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Here is the information for 3 more students.

Hours with tutor 7 10 16
Mark 50 56 78

(a) Plot this information on the scatter graph.

(1)
(b) What type of correlation does this scatter graph show?
| Dositive corrdation
(1)
L (¢) Draw a line of best fit on the scatter graph.
1)
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( 5. The scatter graph shows information for some weather stations.
It shows the height of each weather station above sea level (m) and the mean August
midday temperature (°C) for that weather station.
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Mean August midday temperature (°
C) The table shows this information for two more weather stations.
Height of weather station above sea level (m) 1000 | 500
Mean August midday temperature (°C) 20 22

(a) Plot this information on the scatter graph.

(b) What type of correlation does this scatter graph show?

(c) Draw a line of best fit on the scatter graph.

Lots more free papers at www.bland.in

N Q—f)"‘b"\"" coccelatinn

(1)

m——




\

6. Mr Davies sells umbrellas.

The scatter graph shows some information about the number of umbrellas he sold and the

rainfall, in cm, each month last year.
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In January of this year, the rainfall was 6.1 cm.
During January, Mr Davies sold 33 umbrellas.

(a) Show this information on the scatter graph.

(b) What type of correlation does this scatter graph show?

A

@

POS: \'!ve_ Locer Q,( wtinoA

................................

In February of this year, Mr Davies sold 39 umbrellas.

(c) Estimate the rainfall for February.
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7. Sophie reads eight books.
For each book she recorded the number of pages and the time she takes to read it.

The scatter graph shows information about her results.
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Number of pages

(a) Describe the relationship between the number of pages in a book and the time Sophie
takes to read it.

(i)O Sihive C“_C)rre,l o

Sophie reads another book.
The book has 200 pages.

(b) Estimate the time it takes Sophie to read it.

(Total 3 marks)
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8. The table shows the cost and length of different tram journeys across a city.

Length of
journey (miles) 1.8 | 2.1 22 [ 25 | 32 | 37 | 40 | 46 | 58 | 64

Cost of journey
£) 0.90 | 0.80 | 1.50 | 1.60 | 2.00 | 2.20 | 2.40 | 2.90 | 3.10 | 3.40

(a) Draw a scatter diagram for the data on the grid below.
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(b) Estimate the cost of tram journey of length 5 miles. 2)
Give your answer to the nearest ten pence.
£.2:00 .
2
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